HcenenoBaTh Ha SKCTPEMYM cleyionue hyHKIIT
lz=yyr —20* — o+ 14

2.2z =213 — 8y? — 6wy + 5

3.2 =2+ 15x — 22* — xy — 2u°

4.z =5+ 6x —2* — 2y — 20

5.2 = x° + 8y? — 6y — 39x + 18y + 20
6.2 = 223 + 2y — 6y + 5

7.z = 32% + 3y — 9zy + 10

8z=T +ay+y*+x—y+1

9.2 =4(x —y) — 2* — 1

10.z = 6(x — y) — 32 — 3y°

11.2 = 82* + y* + 2xy — 6x — Yy
12.2 = 3(x — 2)* + 2y* — 10
13z=(r—5*+y*+1

14.z = 22° + 2y° — 6xy

15.2 = —22% — y? — 2zy

16.2 = x\/y — 22° — y + 6 + 3
17.2 =22y — 52° — 3y* + 5

18.2 = 3xy(12 — x — y)

19.2 =22y — 2> —y* + 9
20.z = 20zy — 3x* — 2y* + 10
21.2 = 3(x — 1)* + 29>

22,2 =2x% — 3y’ — 3xy + 7
23.2 =2(x —y) — 2* — ¢?
24.2z = 4dzy(6 — x — y)

252 =062 +y* —axy+x+y



